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65,000, 000& *2J0 A *70% 91,000
< 26,000
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= 32,400
= 75,600
12 JIEtE2 Al = 108,000 0 108,000
o224 AN=H 108,000
=} 32,400
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NEHSS A HE 105,897 101,488 4,409
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201 2Et24A Y| 22,800 19,300 3,500
01 AP 2t 2] d| 19,500 16,000 3,500
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OXNME 29 28 22 80,000& x50= #43] 16,000
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02 E232%H| 3,300 3,300 0
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206 M = Hl 15,000 15,000 0
01 X2 4| 15,000 15,000 0
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OXSHHA=S XM ME 22 21,877
oo 66,800& 1210 14,028
Oszssdsd 66,800& x1H +50 3,340
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o428 = 2,220
O=2od=282ed=2 21,877,000 x4 . 5% 985
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o=z ¢ 23+ 20,000&*20= =104 4,000
206 M = dl 40,000 40,000 0
01 =4l 40,000 40,000 0
OXBAEY RISKW BME P
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10, 000& *500kg*23] 10,000
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X EHOS 287,000 287,000 0
301 LBt A= 287,000 287,000 0
12 JIEtE A2 287,000 287,000 0
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320,000 *500ha 160,000
OXESHASANES Mo HHAS XS 127,000
ORJIsos 265,000& *310ha 82,150
Of=%0=s 236,052& *190ha 44,850
GAP I=422 XK (=H|) 2,961 2,961 0
& 888
= 2,073
301 LBt A= 2,961 2,961 0
& 888
= 2,073
12 JIEtE2 A= 2,961 2,961 0
OGAP 215242 X 98,700 *300H & 2,961
o=} 888
= 2,073
GAP Ot M 24X 25,000 9,279 15,721
= 12,500
= 3,750
= 8,750
301 et A= 25,000 9,279 15,721
= 12,500
= 3,750
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201 2Et24Hy| 2,300 2,300 0
01 AP 22| H| 2,300 2,300 0
OGAP N & =22 H& 5,600 x2508 1,400
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301 et A= 10,000 30,000 A 20,000
12 JIEtE2 A= 10,000 30,000 A 20,000
OGAPRIZE 42 LU HAMH X
200,000 x50ha 10,000
GAPRIZ AR A& (EH]) X 2,500 0 2,500
o=t 750
= 1,750
402 SI2FXHE0| M 2,500 0 2,500
== 750
= 1,750
02 CIZEXIE AL EX (0| XM THL) 2,500 0 2,500
OGAPRIZ AR A& (EH]) X
2,500,000 *2 0 2 x50% 2,500
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AlANES FAMeE H1D 4,944,923 4,857,034 87,889
= 1,550,160
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= 1,164,160
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EAHSH X 393,000 548,000 A 155,000
= 255,000
= 138,000
403 XX S M S K201 & 393,000 548,000 A 155,000
2 255,000
= 138,000
02 2| 2SO Utet 2= EAIS Y 393,000 548,000 A 155,000
OELIMH X 131,438& x2,990= 393,000
2 255,000
= 138,000
S AJlE Al (XHSIIE) 50,000 100,000 50,000
2 50,000
402 BI2H X 20| M 50,000 100,000 A 50,000
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02 CIZEXIEAISEX (0| XM THL) 50,000 100,000 A 50,000
OMZNS £ MMBX AlY 50,000
= 50,000
SHY A MAo.RE AY 150,000 0 150,000
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= 75,000
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MNEE S XD & 23 MY 12,000 0 12,000
= 6,000
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= 6,000
= 6,000
02 QIZtXIE A E X (0| XM THH) 12,000 0 12,000
OKNEZ EX XD & 22 AY
12,000,000 *1JH & 12,000
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ODBE B MMNUX X4
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< 13,500
e 22,500
OJlsd & MoK =4
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< 39,150
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O ZJITHEHE Rl =4 750, 000& *5ha*80% 3,000
< 1,125
s 1,875
o MAXHE JIBEEH 8,000 16,000 A8,000
< 3,000
s 5,000
402 RI2HXt20l ™ 8,000 16,000 A8,000
< 3,000
[ia 5,000
02 2IZt 2 AL EZ (OIS ) 8,000 16,000 A8,000
OH MAXFH JIgtxd  2,000,000& *x5ha*80% 8,000
< 3,000
fia 5,000
H Milsot 2SAE L= N2 1,410,000 1,500,000 90,000
< 705,000
s 705,000
301 et 4= 1,410,000 1,500,000 290,000
= 705,000
s 705,000
12|24 = 1,410,000 1,500,000 A 90,000
O TSIt YA K&
300,000& =4,700ha 1,410,000
< 705,000
s 705,000
A 22 H R=3I MY 18,000 0 18,000
= 9,000
[ia 9,000
402 2I2H X201 M 18,000 0 18,000
= 9,000
[ia 9,000
02 QI 2 AL EZ(OI X TH ) 18,000 0 18,000
OMAHl B2 H =810 MY
18,000,000& *1JH £ 18,000
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ol s2& &X A& 150,000
NELE SHE MaD|et XM 159,500 152,500 7,000
402 BI2H X 20| M 159,500 152,500 7,000
01 It EANSEXR (M) 159,500 152,500 7,000
O8N 2EASD] XN 1,500,000& *x26LH *50% 19,500
ORY0|l=sY AYEHHX =4
200,000€! *1,000ha*50% 100,000
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402 SI2FXHE0| & 62,000 120,000 A 58,000
01 SIZEXIEANYEX (MMM A) 62,000 120,000 A 58,000
OXotg N XA 8,000, 000& 822 *50% 32,000
OXEAH ANLEHAHX SEHAIS
20,000, 000& *2J0 A *50% 20,000
OEZEZZ2 THHH KA
20,000, 000& =10 & *50% 10,000
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402 SI2FXHE0| & 880,000 730,000 150,000
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= 9,000
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= 1,500
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= 10,000
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= 10,000
= 10,000
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= 10,000
= 10,000
ANENAS D20 Y st3 22 AlY 40,000 0 40,000
= 20,000
= 20,000
402 BI2H X 20| M 40,000 0 40,000
= 20,000
= 20,000
02 CIZEXIEANSE X (0| XM THL) 40,000 0 40,000
OAIENA D20 sH22 AIEAIY
50,000,000 =14 2~ *80% 40,000
= 20,000
= 20,000
XN =S 020 Al)=23 80,000 0 80,000
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6,000
10,000

UL

ANSEE(0IXETHE) 16,000 0 16,000
OAIZE0 S3MOH AAE 25
20,000,000 *1JH 2 x80% 16,000

6,000
10,000

Mo

AL EailEs Seaclisad 16,000 0 16,000
6,000
10,000

EUE

402 2I2tX201 & 16,000 0 16,000

6,000
10,000

UL

ASEE(0IXTHE) 16,000 0 16,000
OAEZ0 Eolls Sg2cllsAd
20,000,000 *1JH 2 x80% 16,000

6,000
10,000

EUNL

SXMM IR 44,000 0 44,000

22,000
22,000
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22,000
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402 RI2EA=20| A 75,300 60,000 15,300
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s 9,180
THAMAAIL S XI& A 120,000 0 120,000
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